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demo 731§l

package.cpath = "./?.s0"
package.path = "./?.lua"
cjson = require "cjson”

config = require "config"

require "zyzn"

function act_control(m, json)
for k, v in pairs(json) do

if k ~= "Act" then
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zyzn.write(zyznObj, cjson.encode({ ["'name"] = k, ["val"] = v }))
end
end

end

function mqttdata_handle(m, topic, data)
local json = cjson.decode(data)
if json.Act == "Control" then
act_control(m, json)
end

end

function mqttsys_handle(m, code)
if code == 0 then
zyzn.stop(zyznObj)
elseif code == 1 then
zyzn.run(zyznObj)
end

end

function zyzn_handle(obj, name, code, data)
mqtt.publish(mqtt30bj, name, "r", data)

end

function zyzn_load_collectnodes(obj, nodes)
for k, v in pairs(nodes)
do
zyzn.addcnode(obj, cjson.encode(v))
end

end

function zyzn_load_varnodes(obj, nodes)
for k, v in pairs(nodes)
do
zyzn.addvnode(obj, cjson.encode(v))
end

end

function init()
mqtt30bj = mqtt.new()
mqtt.config(mqtt30bj, nil, "123.249.100.4", "1883", "tr", "")
--mqtt.config(mqtt30bj, nil, "123.249.100.4", "1883", "user", "mix123") -GS BRS RS
user.setluaver(config.AprusX.luaver)
user.setdevinfo(config.AprusX.devinfo)
user.ipconfig(config.AprusX.ipmode, config.AprusX.inet_addr, config.AprusX.netmask)

-- user.reset_eth0() --if you want to set ethO use this interface
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--  useripconfig_ethO("manual”, "10.100.1.123", "255.255.255.0", "10.100.1.1", "114.114.114.114")

end

function start()
init()
zyznObj = zyzn.new("zyzn")
zyzn.config(zyznObyj, cjson.encode(config.zyzn.Device))
zyzn_load_collectnodes(zyznObj, config.zyzn.ColNode)

zyzn_load_varnodes(zyznObj, config.zyzn.VarNode)

-- fwCfg = config.Forward485

-- fw4850bj = forward485.new()

-- forward485.config(fw4850bj, fwCfg.device.rate, fwCfg.device.databit, fwCfg.device.stopbit, fwCfg.device.parity)
-- forward485.autofilter(fw4850bj, 1, 60)

-- forward485.timeout(fw4850bj, 3000)

-- forward485.run(fw4850bj)

mqtt.run(mqtt30bj)

while true do
local msg = user.waitmsg()
if msg.from == "mqtt-sys" then
mqttsys_handle(msg.session, msg.code)
elseif msg.from == "mqtt-msg" then
mqttdata_handle(msg.session, msg.topic, msg.payload)
elseif msg.from == "zyzn" then
zyzn_handle(msg.obj, msg.name, msg.code, msg.data)
end
end

end

start()

1.1 S zyzn IS

iBa require "zyzn"

g | S\ zyzn SIS
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2 config.lua Eg&i%EH

Demo 73=l:

return

{

#FER) |

PR

--E(E:
--1&E :
&
--1&E :
--1&E :
-1
--1&E :
-2

-2

AprusX = {

ipmode = "none", --auto/manual/none
inet_addr = "192.168.1.234",
netmask = "255.255.255.0",

luaver = "VOO.R",

devinfo = "ModbusRtuDev",

2
zyzn = {
Device = {

portindex = 1,
rate = 9600,
databit = 8,
stopbit = 1,
parity = "None",

QueryTimeout = 3000,

-- None/Odd/Even
--ERERT, B ms

querylinterval = 5000, --3R&/EIFE, E{i ms

b
ColNode = {

--{ID = Fuhtttt (#UH) , reg = TRERD (FFFER) |, addr = HUEHEHE (BUE) | ctype = REHIEER (F

cnt = REKE (BE) )

{ID=1,reg="2"addr =1, ctype =
{ID =1, reg = "3", addr = 16385, ctype = "dword", cnt = 473 }, -~ EMSAIRE; RELHRHE cnt Fig

"bit", ent=95}, --EERLESRE

{ID =1, reg = "3", addr = 25089, ctype = "dword", cnt = 10}, --iBERMRE

{ID = 6, reg = "2", addr = 24577, ctype = "bit", cnt=1}, --IBIERMRE
{ID =6, reg = "3", addr = 25089, ctype = "dword", cnt = 10}, --iBERMRE
{ID =6, reg = "3", addr = 16385, ctype = "dword", cnt = 20}, --BERMIRE

W
VarNode = {

--{ID = Fubtthht (FE) | reg = TR (FRFER) |, addr = HuEiEht (BE) | ctype = REHIEEE (F
FFER) |, dtype = LIREGEEE (FRFH) | cycle = LIREH (BE, B ) , name = ERIFE (FfF8) ),
{ID=1,reg="3", addr= 25089, ctype = "dword", dtype = "float", cycle = 120, name = "L6 3 11111"},

(ER)
{ID=1,reg="2"
BERS (HR)
{ID=1,reg="3",
FREE (ER)
{ID=1,reg="3",
BIEEE (HR)
{ID=1,reg="3",
BRithE e (HR)
{ID=1,reg="3",
SOC (E#R)
{ID=1,reg="3",
SOH (ER)
{ID=1,reg="3",
BEE (ER)
{ID=1,reg="3",
ERESE (ER)
{ID=1,reg="3",
RESE (ER)

addr =95,  ctype
addr = 16385, ctype =
addr = 16386, ctype =
addr = 16387, ctype =
addr = 16388, ctype =
addr = 16389, ctype =
addr = 16390, ctype =
addr = 16391, ctype =

addr = 16392, ctype =

= "bit", dtype = "bit", cycle = 120, name = "L1 3 95" },
"dword", dtype = "float", cycle = 120, name = "L1_3_16385"},
"dword", dtype = "float", cycle = 120, name = "L1 3 16386"},
"dword", dtype = "float", cycle = 120, name = "L1_3 16387"},
"dword", dtype = "float", cycle = 120, name = "L1_3_16388"},
"dword", dtype = "float", cycle = 120, name = "L1 3 16389"},
"dword", dtype = "float", cycle = 120, name = "L1_3 16390"},
"dword", dtype = "float", cycle = 120, name = "L1_3_16391"},

"dword", dtype = "float", cycle = 120, name = "L1_3 16392"},




nfwa'linker

. HYE TRIITH B I R 2% A PR )

{ID=1,reg="3", addr= 16393, ctype = "dword", dtype = "float", cycle = 120, name = "L1_3_16393"},
BN RATTREER (LHR)

{ID=1,reg="3", addr=16394, ctype = "dword", dtype = "float", cycle = 120, name = "L1_3 16394"},
1B RAREREE (L)

{ID=1,reg="3", addr=16395, ctype = "dword", dtype = "float", cycle = 120, name = "L1_3 16395"},
&N RRBEESTFS (HR)

{ID=1,reg="3", addr=16396, ctype = "dword", dtype = "float", cycle = 120, name = "L1_3_16396"},
-1EN: BkESREE (LHR)

{ID=1,reg="3", addr=16397, ctype = "dword", dtype = "float", cycle = 120, name = "L1_3 16397"},
BN RABESEDFES (L))

Iz
Iz

1=
&

(ER)
(ER)
(ER)

{ID=1,reg="3",

. BARRAEEE (HR)

{ID=6,reg="3",
{ID=6,reg="3",
{ID=6,reg="3",
{ID=6,reg="3",

B fRmIRE (HR)

{ID=6,reg="3",

REERE (HR)

{ID=6,reg="3",

-1EE: IHRIRE (ER)

addr = 16398, ctype = "dword", dtype = "float", cycle = 120, name = "L1_3_16398"},

addr = 16385, ctype = "dword", dtype = "float", cycle = 120, name = "L6_3 16385"},
addr = 16387, ctype = "dword", dtype = "float", cycle = 120, name = "L6_3 16387"},
addr = 16388, ctype = "dword", dtype = "float", cycle = 120, name = "L6_3 16388"},
addr = 25089, ctype = "dword", dtype = "float", cycle = 120, name = "L6_3 25089"},
addr = 25090, ctype = "dword", dtype = "float", cycle = 120, name = "L6_3 25090"},

addr = 25091, ctype = "dword", dtype = "float", cycle = 120, name = "L6_3 25091"},

{ID =6, reg = "2", addr = 24577, ctype = "bit", dtype = "bit", bitn = 0, cycle =
name = "L6 2 24577"), --&E: FFEH (LHIR)
{ID =1, reg = "16", addr = 25089, ctype = "float", dtype = "float", bitn = 0, cycle =
name = "CL1_3 25089" }, --i&F (3=#l)
{ID = 6, reg = "16", addr = 25089, ctype = "float", dtype = "float", bitn = 0, cycle =
name = "CL6_3_25089" }, --i&ZiA: #Ii&RIZE (&)
{ID =6, reg = "16", addr = 25090, ctype = "float", dtype = "float", bitn = 0, cycle =
name = "CL6_3_25090"}, --iZiF: REIERE (=)
{ID = 6, reg = "16", addr = 25091, ctype = "float", dtype = "float", bitn = 0, cycle =
name = "CL6_3 25091" }, --i&&: IIFwIRE (F=H)
{ID = 6, reg = "06", addr = 24577, ctype = "bit", dtype = "bit", bitn = 0, cycle =
name = "CL6 2 24577" }, --i&f%: FF#l (I=4)
}
2
}
2.1 AprusX : EO0B M
| =] 1588
ipmode "auto"/"manual”/"none" ip 3REU5
inet_addr "192.168.1.234" APRUS B9 IP ik
netmask "255.255.255.0" TS
APRUS Y Lua RS2, HRIESCRRED
luaver "MAX.LUA.V032700.R"
AEITES
5 APRUS 34318, AIRIERRE1T
devinfo "zyznDev"
e

120,

120,

120,
120,
120,

120,




£ N\ __
mixlinker
. E B

TR R IR R 28 A R 22 7]

2.2 zyzn-Device: EOREM

¥ =] 1588

portindex AL 1/2 RS485-1/ 2 #0O

rate A 2400/4800/../15200 | iR

databit A 5/6/7/8 RN

stopbit BA: 1/2 (ElI=iv]

parity FfF8: Even/Odd/None e

QueryTimeout | EfZ: 1~n TN (B 2R)
querylnterval B 1~n REEMR (B Z/)

2.3 zyzn-ColNode :REHHE

S E 5288
ID A 1~n ’e& ID
reg =R "2"/"3" EReas St
addr AL O~n SRESHCIAtE
bit LAIABAIRE (HMES. EiE)
ctype F#FER: dword/bit
dword:LASF T ARRRE (RWADEN. iZ13)
cnt BAL: 1~n RENT LR
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2.4 zyzn-VarNode: EiR/i=HB R B

S =] L
ID BRI 1~n 8’ ID
reg SRR "2"/"3" EEas St
addr A O~n R ntht
ctype F#Fe: dword/bit FATFRECI M ASRET =
FRFER:
dtype bit/byte/ubyte/short/ushort/int/uint/l | ZEA

ong/ulong/float/double/bytes

HIEKE, NEBUESEYU bytes
len(%iE) | E2HY: 1~n

o~

BB, BT EEFTHERE

Bf: B #BE: 0.1
T 0: BMEE HiREE I E
cycle FA: O~n

i

AT 0: BpiEE EiREH

name FRIER: _HR/AEHIRR




